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SUBJECT: BUSINESS MATHEMATICS

CLASS: F.Y.B.Com.(A&F) | H S22 SEM-II

SECTION I1 40 MARKS

Note: (i) All Questions are compulsory with internal choice.
‘(i) Simple Calculator is allowed.
(1i1) Graph papers will be provided on request.

Q:2  Solve the following : (ANY-ONE) 10 Marks
[1] ’

1. Kartik promised to pay Ketan Rs.366025 after 4 years. If the rate of interest is 12%
per annum, find its present worth.

ii. A man purchases a house and takes a mortgage on it for Rs. 10, 00,000 to be paid of
in 2 years by EML. If the interest rate is 8% p.a., find the sum of money that he pays
as EMI when interest is charged as reducing balance method.

OR

2]

i.  Aprincipal amount to Rs.9680 after 3 years and to Rs.10800, after 5 years. Find the
principal and rate of simple interest.

ii.  How much money should a person invest at 7% p.a. compound interest so that he
would get an annuity of Rs. 1,00,000 at the end of each year for the next four years
after which his principal money will be over?

Q:3 Solve the following: (ANYONE) 10 Marks
(1]
i.  Ramu Industries has issued 60,000 shares of par values Rs.10 each. The company
declared a total dividend of Rs.72000. Find the rate of dividend paid by the company.
ii.  Mr.UK invested Rs. 94070 in a mutual fund. When NAV was Rs. 460 with the entry

load of 2.25%. He received a dividend at Rs. 5 per unit. He later sold all the units of
the fund when NAV was Rs. 476 with exit load of 0.5%. What is the percentage gain?

OR
2]

1. Mr. XYZ invested in a stock having face value Rs.100. He received net dividend of
Rs. 54 at the rate 4.5%. His total investment in the shares is Rs. 1284. The rate of
brokerage is 1%. Find the market value of the shares?



ii.

Q:4
(]

ii.

(2]

il.

Q:5
1]

1i.

2]

If NAV was Rs. 72/- at the end of the year, with 12.5 % increase during the year, find
NAV at the beginning of the year.

Solve the following: (ANY-ONE) 10 Marks

A, B and C started business with total capital of Rs.1,00,000. At the end of the,year, .
the profits received by A, B and C were Rs.2,000, Rs.3,000 & Rs.5,000 respectlvely.
Find the amount of capital invested by B.

By selling an article at Rs.3,000, a person earned 20% profit. What would have been
the percentage profit or loss, if he had sold it at Rs.2,750?

OR

The marks of Babita and Bharat are in the ratio 7:3. The difference between their
marks is 56. What are their marks?

If A takes 5 days to complete a task when he works for 8 hrs a day, how many days he
will take to complete the task if he works 5 hrs a day?

Solve the following: (ANY-ONE) 10 Marks

A cupboard was sold for RS.7906 at 18% profit. What was the cost price?
A salesperson is allowed 9% commission on total sales plus a bonus at 1.5% oh the
sales exceeding Rs.20,000. If he earned Rs.4,104 on commission alone, find his total
earnings.

OR

After giving a 12% discount on the list price, a shirt was sold Rs. 1056. Find the list
price.

A trader gave 10% trade discount and a further 1% discount for cash payment. If the
list price was Rs2,430, find the net selling price.



